Efficiency vs Dxy(PV)

S 0.2

o
0.18

o
=y
T[T [T T [T T T T[T T

Ratio

0.

5=30-15-10 =5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__mkFit10000__RECO
—— DQM_V0001_R000000001__Global__mKkFit1000__RECO
[Efficienc]| —— DQM_v0001_R000000001_Global__mKkFit1000ATime__RECO

E 0.5E T
So4sf
o - .
o 0.4F b
S E .
30.35F b
N :
S 0.3;— b
©0.25F--1--k :
oaf--i-- N -+
o.15fF---- 4+ {1 H{it: - - <- ;
o.4f--i--f ]
0.05F-+i- : gL
E L i 14 i i
R P
= AR ot ot
3 T
| ;\\\\\\H\'\H\HH\'HHH\H' |
0957 0:506-0.4-0.2 0 0.2 0.4 0.6 0.8

TP dxy(PV) (cm)

Efficiency vs Dz(PV)
1.

< [ .
o L : N
§ f : :
A SERREE PP R S REEERIEPES
s F . .
> :
o I .
E} 0.8+ -t b
2 [ .
= r N
@ - :
S F. D A e
0.4:_ ............ l......J: ............ [
0.2+ reeeeees FRRTE | P S R PRE beeees
[ i i ; i i
o+ X
T
@
i
0¥ =20 -i0 0 10 20 30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

r>~lA 5 -
o L .
¥ :
1 1 .
> .
> N
o .
© 0.8ttt
o [ .
© - .
06-_ ...... [ —— a. ....... PR -

0afF-d..... HE— S S [ D
o L.W- ++ ’ 1 I
g :
' o
-3 i
08 =05 5



	Contents
	Page 1


